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Sample Problems 

 

The BEST electron configuration (according to the Aufbau principle):  

9b  1s22s22p63s23p64s23d104p65s2 

9c  1s22s22p63s23p64s23d3 
 
The answers for the sample problems in the textbook do not follow the Aufbau principle, 
but show the VALENCE (outermost "s" and "p" sublevels). In the case of 9b, 5 is the 
highest energy level and it has an "s" orbital. Therefore, 5s is the valence and is listed 
last. 
 
For 9c, 4 is the highest energy level and it has an "s" orbital. Therefore, 4s is the 
valence and is listed last. 
 
However, according to Aufbau principle, the 4s sublevel is actually lower energy than 3d 
and should come BEFORE it.  
 
The textbook chose to simply show the energy levels (1-5 for 9b and 1-4 for 9c) with 
their respective sublevels (s, p) in order RATHER than according to the amount of 
energy in each sublevel. 
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